2017-18

SEMESTER -I

Subject	Appeared	Pass	Percentage
FINANCIAL ACCOUNTING - I	14	8	57%
BUSINESS ECONOMICS	14	11	78%
BUSINEESS ORGANISATION	14	13	93%
INFORMATION TECHNOLOGY	14	6	43

SEMESTER-II

FINANCIAL ACCOUNTING - II	10	10	100%
MANAGERIAL ECONOMICS	10	10	100%
PRINCIPLES OF MANAGEMENT	10	10	100%
FOREIGN TRADE	10	10	100

2018-19

SEMESTER-III

Subject	Appeared	Pass	Percentage
ADVANCED ACCOUNTING	10	7	70%
BUSINESS STATISTICS-III	10	10	100%
INCOME TAX-I	10	10	100%
ENTERPR.DEVELOPEMENT AND BUSINESS ETHICS	10	10	100%

SEMESTER -IV

Subject	Appeared	Pass	Percentage
CORPORATE ACCOUNTING	10	10	100%
BUSINESS STATISTICS-IV	10	9	90%
INCOME TAX-II	10	10	100%
AUDITING	10	9	90%

2019-20

SEMESTER -I

Subject	Appeared	Pass	Percentage
FINANCIAL ACCOUNTING - I	21	15	71%
BUSINEESS ORGANISATION &MANAGEMENT	21	16	76%

SEMESTER-II

Subject	Appeared	Pass	Percentage
FINANCIAL ACCOUNTING - II	21	18	86%
BUSINESS LAWS	21	20	95%

SEMESTER-V

Subject	Appeared	Pass	Percentage
COST ACCOUNTING	9	9	100%
BUSINESS LAW	9	9	100%
BANKING THEORY & PRACTICE	9	9	100%
COMPUTERIZED ACCOUNTING	9	9	100%
FINANCIAL MANAGEMENT	9	9	100%
PRINCIPLES OF MARKETING	9	9	100%

SEMESTER-VI

Subject	Appeared	Pass	Percentage
MANAGERIAL ACCOUNTING	9	9	100%
COMPANY LAW	9	9	100%
FINANCIAL INSTITUTIONS&MARKETS	9	9	100%
COMMERCE LAB	9	9	100%
HUMAN RESOURCE MANAGEMENT	9	9	100%
TAX PLANNING & MANAGEMENT	9	9	100%

2020-21

SEMESTER-I

Subject	Appeared	Pass	Percentage
FINANCIAL ACCOUNTING-I	20	19	95%
BUSINEESS ORGANISATION AND MANAGEMENT	20	20	100%

SEMESTER-II

Subject	Appeared	Pass	Percentage
FINANCIAL ACCOUNTING-II	20	16	80%
BUSINESS LAWS	20	19	95%

SEMESTER-III

Subject	Appeared	Pass	Percentage
ADVAMCED ACCOUNTING	21	21	100%
BUSINESS STATISTICS-I	21	21	100%

SEMESTER-IV

Subject	Appeared	Pass	Percentage
BUSINESS STATISTICS-II	21	21	100%
INCOME TAX	21	21	100%

2021-22

SEMESTER-I

Subject	Appeared	Pass	Percentage
FINANCIAL ACCOUNTING-I	37	34	92%
BUSINEESS ORGANISATION AND MANAGEMENT	37	36	97%

SEMESTER-II

Subject	Appeared	Pass	Percentage
FINANCIAL ACCOUNTING-II	36	36	100%
BUSINESS LAWS	36	36	100%

SEMESTER-III

Subject	Appeared	Pass	Percentage
ADVANCED ACCOUNTING	20	20	100%
BUSINESS STATISTICS-I	20	20	100%

SEMESTER-IV

Subject	Appeared	Pass	Percentage
INCOME TAX	20	20	100%
BUSINESS STATISTICS-II	20	20	100%

SEMESTER-V

Subject	Appeared	Pass	Percentage
BUSINESS ECONOMICS	21	21	100%
COST ACCOUNTING	21	21	100%
COMPUTERIZED ACCOUNTING	21	21	100%

SEMESTER-VI

Subject	Appeared	Pass	Percentage
RESEARCH METHODOLOGY AND PROJECT REPORT	21	21	100%
COST CONTROL AND MANAGEMENT ACCOUNTING	21	21	100%
THEORY AND PRACTICE OF GST	21	21	100%

2022-23

SEMESTER-I

Subject	Appeared	Pass	Percentage
FINANCIAL ACCOUNTING-I	34	25	73%
BUSINEESS ORGANISATION AND MANAGEMENT	34	9	26%

SEMESTER-II

Subject	Appeared	Pass	Percentage
FINANCIAL ACCOUNTING-II	32	32	100%
BUSINESS LAWS	32	32	100%

SEMESTER-III

Subject	Appeared	Pass	Percentage
ADVAMCED ACCOUNTING	32	29	91%
BUSINESS STATISTICS-I	32	29	91%

SEMESTER-IV

Subject	Appeared	Pass	Percentage
INCOME TAX	29	29	100%
BUSINESS STATISTICS-II	29	29	100%

SEMESTER-V

Subject	Appeared	Pass	Percentage
BUSINESS ECONOMICS	20	20	100%
COST ACCOUNTING	20	20	100%
COMPUTERIZED ACCOUNTING	20	20	100%

SEMESTER-VI

Subject	Appeared	Pass	Percentage
RESEARCH METHODOLOGY AND PROJECT REPORT	20	20	100%
COST CONTROL AND MANAGEMENT ACCOUNTING	20	20	100%
THEORY AND PRACTICE OF GST	20	20	100%